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Note:  We can also prove that P has at least 3 points as follows:  
There is at least one line in P, and it has at least two points.  But 
there is also a point in P not on L.  This yields a third point of P.

The proof 
shows the 
contraposi
tive of the 
thm., and 
the latter is 
equiv. to 
the stated 
theorem.

(line)
    |

or empty.

6



As in the 2-dim case, in the 3-dim case we can 
show that S has at least 4 points.  There is a plane 
P in S and it has three points, and there is a 
fourth point which is in S but not in P.
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See lecture02.pdf 
for a cleaned up 
version of this 
material.

See 
lecture02a.pdf
for a cleaned
up version of
this material.




